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® Answer all questions.
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Information
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Advice
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® Keep an eye on the time.

® Check your answers if you have time at the end.
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Context
You are interested in walking to work/college. You decide to find out more. R e
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Read Text A, Text B and Text C in the Text Booklet, then answer questions 1 - 13. S E
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Answer question 1 with a cross in the box [X. If you change your mind about an answer,
put a line through the box £¢ and then mark your new answer with a cross [X.

1 The writer of Text A believes that:
[J A walking 10,000 steps a day is difficult for most people
[J B adults should aim to walk 3,000 to 4,000 steps a day
[ € the environment can benefit if people walk more

[] D walking in the countryside is best for beginners

(Total for Question 1 = 1 mark)

2 InText A, what do the following quotations suggest about the writer’s views on walking?

‘Get people on board’

(Total for Question 3 = 1 mark)
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4 Give one reason why Text B is suitable for someone who is interested in how street

Answer questions 5 and 6 with a cross in the box X. If you change your mind about an answer,

safety in the UK can be improved.

(Total for Question 4 = 1 mark)

put a line through the box $¢ and then mark your new answer with a cross [X.

5

In Text B, the paragraph beginning ‘Leaders around the world’ suggests that:
[1 A the UK leads the way in making streets safe

[] B making streets safe is too expensive to achieve
[ € there are economic benefits to making streets safe

[0 D many people oppose designing town centres for walking

(Total for Question 5 = 1 mark)

In Text B, ‘bold and brave’is an example of:
] A alliteration

[0 B  metaphor

[J € rule of three

[J D exclamation

(Total for Question 6 = 1 mark)
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7 I|dentify two language features used by the writer in Text C to present his views.

Give an example to support each answer.
e e
........................................................................................................................................................................................................................................................................... (2)
e
........................................................................................................................................................................................................................................................................... (2)

(Total for Question 7 = 4 marks)
8 Your friend wants to know about the physical benefits of walking.
Using Text A and Text B, inform your friend about the physical benefits of walking.
(Total for Question 8 = 5 marks)
\ J
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9 Give one quotation from Text A and one quotation from Text C that suggest that
many people are unaware of the value of walking.
Quotation from Text A
........................................................................................................................................................................................................................................................................... (1)
Quotation from Text C
........................................................................................................................................................................................................................................................................... (1)
(Total for Question 9 = 2 marks)
10 Use Text B and Text C to answer this question.
Explain how these texts have different ideas about walking.
Give examples from both texts to support your answer.
(Total for Question 10 = 5 marks)
\
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11 You are preparing a talk on walking and want to include information on what to buy.
Which text is the most useful when preparing your talk?

Give one reason for your choice and one example to support your answer.

TOXT e (1)
REASON ..
........................................................................................................................................................................................................................................................................... (1)
oY 110 o) L
........................................................................................................................................................................................................................................................................... (1)

(Total for Question 11 = 3 marks)

12 You are concerned that there are no organisations that promote walking.

Identify one piece of evidence from each of the three texts to reassure you that there
are organisations that promote walking.

TOXE A et
........................................................................................................................................................................................................................................................................... (1)
TEXE B e
........................................................................................................................................................................................................................................................................... (1)
TEXE € e
........................................................................................................................................................................................................................................................................... (1)
(Total for Question 12 = 3 marks)
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Answer question 13 with a cross in the box X. If you change your mind about an answer, put a
line through the box ¢ and then mark your new answer with a cross X.

13 Which statement below is an accurate summary of points made in the texts?

LTA
1B
Jjc
L1D

Texts A and B both agree that walking in towns can be enjoyable.
Texts A and C both encourage people to take their phones on walks.
Texts A and B both claim that walking in towns and cities is dangerous.

Texts B and C both argue that driving in towns should be banned.

(Total for Question 13 = 1 mark)
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